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4. The uniform beam has a weight W. If it is originally at rest while being supported
at A and B by cables, determine the tension in cable A if cable B suddenly fails.

Assume the beam is a slender rod with length L.
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5. Block B of the mechanism is confined to move within the slot member CD. If AB is
rotating at a constant rate of wag= 3 rad/s, determine the angular velocity and
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angular acceleration of member CD at the instant shown.
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6. The winding drum D is drawing in the cable at an accelerated rate of 5 m/s’.
Determine the cable tension if the suspended crate has a mass of 800 kg.

(26




